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TG, HDL, ) Sidsbe Lligpn b (couid 5 waz (5 009,50 slo (adls jlad cons pes 4
(LDL, Total cholesterol, FBS, blood pressure
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BMI: body mass index: weight/height2 WC: waist circumference WHR: Waist—
hip ratio WHTR: waist-to-height ratio
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WWI; Weight-adjusted-waist index: WC (cm) divided by the square root of
weight (kg) (cm/vkg)

AVI; abdominal volume index: [2 cm (waist)2+0.7 cm (waist-hip)2]/1,000
Cl; Conicity index: waist (m) /0.109 V(weight(kg)/height(m))

BRI; The body-roundness index: 364.2—365.5x (1 — [(WC/2m)2/ [(0.5 x height)2)]
% HI (Hip Index) = HC * Wt —0.482*Ht0.310



RFM (Relative Fat Mass) = Men: 64 — (20 x height/waist circumference) Women:
76 — (20 x height/waist circumference)
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HIS: hepatic steatosis index: 8 x (ALT/AST ratio) +BMI (+2, if female; +2, if
diabetes mellitus).

ANI: ALD/NAFLD Index: -58.5 + 0.637 (MCV) + 3.91 (AST/ALT) — 0.406 (BMI) +
6.35 for male gender.
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LAP: The Lipid Accumulation Product: [WC-65] x [TG] in men [WC-58] x [TG] in
women

AIP; Atherogenic index of plasma: Log (TG/ HDL-C) CMI; Cardiometabolic index:
TG/HDL-C x (Waist-to-height)

TIMI risk index; The Thrombolysis in Myocardial Infarction (TIMI) score: heart
rate (bpm) x (age/10)2 /systolic BP (mmHg)

VAI; visceral adiposity index:

Men: [WC/(39.68 + 1.88 x BMI)] x (TG (mmol/L)/1.03) x (1.31/HDL(mmol/L));
Women: [WC/(36.58 + 1.89 x BMI)] x (TG/0.81) x (1.52/HDL),

The TyG index: Ln [TG (mg/dl) x FPG (mg/dl)/2].
TyG-BMI: TyG index x BMI. TyG-WC: TyG index x WC (cm).

LCI: The lipoprotein combine index: TCxTG*LDL/HDL-C



